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L e T PART - J::% AR Traar
| Mental Abillty ' |
I ! SOV, \.,/"g'ﬁ_ﬁ,maﬁﬁml R e
1 1. Match the followmg ol a1 1 BT -
| Column - | Column - II i -1 et
| (a) Male I O S ¢)) )
! Moy, »i, o 40 © ek (a)%. © -
: Football )

' (b) Pigeon am D | ‘
! = .

_ Il% Bird b (b)aﬁia'{ (I @D
B - Dogs | | i -
I‘ 2 (e) Teatcl:‘her @) @ : R T&‘_a

: Author _ .
\,_ "~ Musician ] ' © gg: .(IH) @
|2 (@ College. ) & gt
Student ; : s
School . (mREE (V) @
Choose the correct answer from the - . feerel ' :
options given below- T _ - :
A. a-L bl Il &IV . - e fa T ferehet o & welt oo <
B. alLbIV,cldl A. a-I, b-IL, ¢-I11, d-1V
Co allL bl eIV, @IL o 2 B el eIV el JITT
D. a-1V, b-1II, c-11, d-I S

C. a-IL, b-I, c-IV, d-II
D. a-1V, b-I11, c-II, d-I

| 2. Select the odd figure which is 2 Wﬁww@%waﬁqﬁﬁ{qa}mﬁ ,
E different from others- - TR 5

oo LY WA WA V WA W

e N A \/

!5 B. W B. \/\/

| 50 P VANV D\/\/\/\/ i

-' o ® R PR Space For Rough Work/w_% ® @I‘;M
§ o R s |||_||||||||||'|||||||||‘|l|'Af{3 o SetA

— e ——————
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: < in serl
3. What will be the next letters ! \

C,F,1,L,0,

@O P a Q
(I R v) S
A. Onlyl

B. Onlyl &Il
C. OnlyI&III
D. OnlyIII

GET IT ON
A Google Play

w;naqamh@rﬁ‘lﬁ?

C,F,IL,O,--

My P E(H) Q
A fg&1

B. fih1qem I

C. fod 1w I

D. fd 111

—

4. Match the following-

Column - I .QQJ_um.E:.H
(Series) (Missing
Number)

(@) 3,6, 12, 24 ?7,9-- (I) 15
(b) 100, 50, 25,7, 6.25-- (I) 48

(©) 2,6,12,20,7,42-- (I) 12.5

() 1,3,6, 10,7, 21-- ) 30

Choose the correct answer from the
options given below-

“A. a1, bIIL ¢-IV, 4]
B. a-Il, b-1V, c-III, d.]
'C. a-ll, b-11, ¢-I, d-IV
D. a-II, b-III, ¢-I, d-1y

o w—————

H1H - I H1eH - 11

Ll (& 37
(@) 3,6,12,24,2,96-- () 15
(b) 100,50,25,?,6.25--. (I) 48
(€) 2,6,12,20,7,42-- (IID) 125

o (@)51,3,6,10,7, 21~ " - ~(@v).30%

ﬂ%ﬁqwﬁmﬁéaﬁwgﬁ
A. &l b-1IL, -V, g-I
B. a-], b-1V, c-III, d-I

“C. &L, b-IL, oI, d-IV

D. a-I, b-I11, ¢-I, d-Iv
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5. Identlfy the diagram that best

represents the Relationship among
classes given below-

. Mountains, Forest, Earth

A.
B.

C.

- LD

s.

GET IT ON
A Google Play

g wﬁ%ﬁﬁwﬁﬁm

6. Read followmg statements carefully
[As] is Assertion and [R] is Reason
based on statement choose correct.

- option- _
Assertion [As] : Next letter in
sequence C, F, I, L, ? is O.

Reason [R] : Sequence shows every
third letter in alphabet.

A. [As] and [R] both are correct, and
[R] explains [As].

B. [As] and [R] both are correct, but
[R] does not explains [As].

C. [As]is correct, [R] is wrong.
[As] is wrong, [R] is correct.

=

6.

R Wﬂq‘q’ﬂ‘%[ﬁ\s]w

W%W[R]_@H%%IﬁM%

s R 3R faed i _
- F[As]: SR C, B, L L, 2 1 e

7% O 8l
W [R] : ITTHH, aﬁﬁﬁaﬁ:mmﬁﬁt
ey ot s

A. [As] 3 [R] 31 &1 §, [R], [Aél #

TS FAT -1

B. [As] 3R [R]SFT &l §, ® [R], [As]

A T FT Rl
C. [As] W%, [R] T B

- D. [As] @R, [R] W@ R
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Al S S A ey

s 7. aft DONE=4-15-14-5 8 ‘FINISH’E
7. If DONE = 4-15-14-5 then ﬁwﬁhﬁﬁ? ol
‘FINISH’? 1 4 8
A. 6-9-19-9-14-8 A B9-L72
B. 6-9-14-9-19-8 . B. 6-9-14-9-19-8
C. 6-9-19-9-14-8 | C. 6-9-19-9-14-8
D. 8-9-14-19.9-8 '
D. 8-9-14-19-9-8
8. For the below Assertion [As] and - 8. ﬂ%ﬁﬂﬁmm [As] aﬁt T [R] %F‘
Rl:ason [R] choose the correct et farerey ﬂﬁ -
alternative-
Assertion [As] : 4+3x12+3=16 il doxl2F15
Reason [R] : According to BODMAS - ¥R [R] : BODMAS % SITER ¥, I[U]]
ﬁIVISIOH 18 called before : e} EE| LeC) NAE] ferar Eh'g £*) EI%'E';‘[
ultiplication and Multiplication 4 gafere ToET
performed before Addition, so we first - ;. gqqg@r P 12+
ca]culate 12+ Bs =4 then _ ﬁ;{ 4+3><4 4+12 16
4+3x4=4412=-1¢
A. ?];]t?s[gs] and [R] are trug, and A. [As] 3R [R] 315 e E, 3k R
L4 €¢co : :
¥ rrect explanatlon of © [As]wraE SkicTe s
> gc:gt[;;s] and [R] are trye, by [R] B [As) 3R [R) 5 B, g [R]
e ¢ correct explanatlon of iy ; [As] Wﬁéﬁ e :rsor%l
C. [As]is true, but [R] is false e e R, T [R] T g
D. [As]is false, byt [R] is £ D. [As] ‘Wﬁ% ‘T{-Ti [R] T %|
W43 XY

A3k .
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B i SA S o SR
9, Choose the correct option to complete 9. W/E/_— SR
the picture-

e
A E T
‘ % —-—E
B
B.
< A
C
C.
A =
D.
D. @
10. Arrange the tasks in a logical 10. fr=ferRaa #t A1 ww g A F AT
sequences of planting a tree- T STHTEL-
(@ Digahole ' ' Bkt
(b) Water the sapling ' | (@) ?&T
(c) Place the sapling in earth | .. T é.liélq
(d) Cover with soil _ - (©) My Raw
(e) Fertilize the soil ' (d) %ﬁwﬁﬁ@ﬁm ]
A a—c—d-e-b A © Pt
}(3:. 'c‘.—b—-t'.:—d—--ce1 _ | A el
; a-—b—e—.c—- B, Bobiol g
D. a—e-d-c-b C R
D a-e-q-c_y

o & R P 'S'palce For Rough Work / FBW
Sg
S -~ r P A\O ' %

B
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1 i . olesin
Log Ind the Number of triangle
Blven ﬁgure..

the

11. ﬁqmﬁiﬁﬁ’ﬁﬁm WW

"z';.:. GET IT ON
S A Google Play

A, 12 .
A 12 B. 18
B. 18 C. 14
C. 14 '
D. 15 . jesid G |
12. What is the next letter in following 12. |E|;:|I%|I?§E1$§'Uﬁﬁ31.lill3?&’i'{wa'l Im?
series? P,N,L,J,H, ---- :
BN, LI H wses
AT A. I
B. D B.D
C. F C..'F
D. E D. E
13. Inhr-he following question, find out 13. FrerferRee ser , gam e 3 o Rrp—
which answer figure completes the :
figure matrix? Bt TPt 3 T Srepfer e o el
o[+]o ¥ =
+ 010 Ol+ (0O
0 + ] | &
A. @ 0 +
B. @ A O ._
% B. [0
D. [A] c. [+
i ‘
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| | @n@ﬂ‘t@aﬁﬁﬂm
14, What is the Number of straight line in 14, ﬁ'@ﬂqﬁﬁﬁ m
Ithe given figure?

_____.--l"

. e | ‘

A 12 | - T,
B. 13 | | Atd
C. 15 | ' By ke
D. 18 | C. 15
D. 18

15.

: Choose the box that i is smnlar to the
box formed from the given sheet of

S - SfieH T e T g

- o
a) b) 2) b)
) d) & R Pl d)
A. band ¢ only ' A. bR cam
~B. a,cand d only B. aceltdny
C. bandd only C. baik
D. aand d only D aﬂtdm
_ , C AR d Hry

o @ ® R % Spacé For Rough'Work/ WW
- ; % i B %@@lﬁw :
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16, follo 16. ﬁ:rmmﬁz#%aamqﬁ%?
* Which number does fiok 2,6,14,20,30,42, .
Pattern? RN
2,6, 14, 20, 30, 42, -~ A 6
BA. 6 B. 20
. 20 , |
v 30
C. 30 ¥
D. 14 | D24
St o e M o
17, Identify the odd one out- 17 forem 61 TEC- |
A. Car A, B |
B. Bicycle B. @TEETEHCT
C. Truck C. 3% '
D. Ship
D. Gﬁfﬁf
I8. If “~ stands for addition “+" for | 18. ¥fg < ’ETW?'EQI ; WWEW
multiplication ‘+’ fors‘ubtrgction and et i ore e 3T ¢ ?ﬁaqafqm%
“x” for division. Which one of the a0 @ I E7 g OE &7
following equation isc_ozl'rect? & 4 532 Dk exanis
A. 5+2-12+6x2=13
" B. 5+2-12x6+2=10
B. 5+2-12x6+2=10 & Ebaiane s 4
4 - X0—4L=
C. 5+2+12x6-2=4 | & 2:_ Bl 55
D. 5-2+12x6+2=27 el Euy o ity
19. Choose the figure WhICh is dlfferent 19. 35 3?@% @f{ﬁq a}ﬁqﬁﬁ:{%
from the rest- . : -
A.
A. . - [ X
: B [ ik
B X .
.' C X '

e |
c.ﬁj.

D-

fren e

B
Lo .I! i f]d!

* *W_S_B%fiwaé?gﬁwﬂkmw%m®W*
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20- Match the following-
Column - | Column - 11

© (Eirsttwoterm) (Nexttwo term)
(8) BiE M S:N
() Z:W () H:K
() A:E () O: T
(d) ExT av) 1:0

Choose the correct answer from the
options given below-

A, a-L, b-II, ¢-II1, d-IV
B. &IV, b1, c-I, d-III
€. &L b, c-IV, d-III
D. a-I, b-IV, c-III, d-IT

GET IT ON
Google Play

20, A i@“_l_ s g
. M S:N o
Rt
A, o100 o111, d-IV .

g, oIV, bIL oL &I
¢ i bl eIV, I
b, o, bV, eI A1

21. From the following two different

1 1——-.__!!__\--.'..""_--..__

21, mﬁ%ﬁmﬁr@ﬁawwwﬁf '

. appearance of a dice, which Number J e o g&= 2 % ol &
~lies to the opposite of 2?7 : -

A S /4T 4 1

4 1 N6
12} 2
Al

Al

B. 5 | _—)

C.6 G20
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hé
%2 Whic of the fonowmg 7
Iclation as River : cm,

efs

(I)  College : Univ
(I)  State : Nation

(1I1) Gas: Air

(IV) Vegetable : Food

A. Onlyl

B. Only1&1l

C. Only 111, & Il
D. Angm &IV

5iﬂ1ﬂar

AGGFSIJ%‘e Play

22 ﬁwﬁﬁrmm o35
(1) weETfeRe : %gam ﬂ
(II) 9esT: 3 ' S

uy :ag
(IV) §&sft ; e

A, Rk

B. R 1qeri

C. Fb 1, mmaer i
D. L II, IIl @& TV gy

T T e et S
23. Find out which of the figures (4): (B),

(C) and (D) can be formed from the
1eces given in figures-

C=-
V e

e %

A

B.

. YAl
ALY
=y

D.

! '
i‘ :

13-2205-DESR25-ENT Ey)
| YT

23, wﬁrﬁﬁw@g&"ﬁ@fﬁmﬁ
(A, B), (©), D) T w2y

. ,@5®®®
i \%QF _
i ‘ g Rough Wo
- rk/l'tﬁ‘m%%.a.
i W%@@ma

SN R e e R T R A
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| 5 22. ﬁﬁﬁ@fﬁﬂwmqﬁ
22, 'Whicﬁ of the following hes simile

23. Fing out which of the figures (A), (B),

: () e ; fy mﬂm
) on s e ool ) w3
ollege : .
(II)  State : Nation (111) ﬂqmﬁ
( l) Gas : Air ) (IV) §=st : oSt
)chetable : Foo
B, OnlyI&q B. b 1quryn

C. OnlyLIr &
D. AllLILIM & 1v

C. b1 maer
D. LIL IIT 9T IV §aft

(C) and (D) can be formed from the
pieces glven In figures- -

O

i

0

Pl

23,

mﬁﬁqw:ﬁs’rﬁﬂma@ﬁf
(4), (B), (C), (D) mmma?
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24 Arrange fOHOng terms i in 1oglcal

25.

B. a
C. a=b-
D. c—a-

seHEQ-
(@) 2
() 20
(€) .6
d) 12

© 30
A a-c=d-p-

avﬁwq
24, anﬁ W

(2) 2
(b) 20
(c) 6
d) 12

(o) 30

A.acdbe
B.a_d_c e_b
C. a-b-c—d-¢
D. c—a- h-e—d

Which words can not be constructed

from the word ‘INCREDIBLE"?
@ RED

() NERD
() REBEL
(IV) ABEL

(V) RIB

A. OnlyII

B. Only IV

C.IVandV

D. All words are possible

25,

y1s¢ ‘INCREDIBLE’ @rﬂq%mqﬁ
aq'rqsn‘aﬁ L

() RED+—

(I) NERD.—
(I) REBEL—
(IV) ABELX

(V) RIB_

A. R

B. Ry

C. Ivary

D Shvmwmy
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26, Frfefiac 1 @€ FTeTEA § .

Fy i 4 e S
S L R ke e s e Y
B R s e Ly Tl

. { i A

26. Arrange following in cOrT° . (@) a9

Chronological order- (b) GHTE

(8) Year s

(b) Week (c)

(¢) Month (d) TGS

(d) Formight . Rag

| ()

(¢) Day

A. e<d<c<bxa A. e<d<c<b<a

B. e<b<d<c<a _ B. e<b<d<c<a

C. e<a<b<zd<ec g ,' C. e<a<b<d<ec

D. d<e<a<b<e D..d<e<a<b<c
27. Which of the following figure will 27, frffaa & =7 € ST si@em &

follow the series? ST T2

o Iy UL AR
o =L e TN
A. Onlya - B G|
B. bandd s D
C. a,bonly : B. b3k
D. Onlyd fid - : C. a,b¥=
D. A d
. __-_-_----'-—-...____

28. What Will be the next pair i e 28. vt S R e S ey
sequence’ ; '
20T, 18R, 150, 11K, 7 20T, 18R, 150, 11K, ?

A. 6F - A. 6F

B. 5K B. SF

C. 6E o

D. SE + BB
D. 5E

*@@ \ .
BP Space For Rough Work /T % R e & @ @ 5
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2.'-9'.' What comes next in

N A S py

the series? 29 4.7 -
__0’3’8,15, 24’? 0’3?8,15;2 ’
A, 36 A. 36
] B. 3: . : B. 35
C. 3 i
- | .34
D. 30 Loy 2
D. 30 . N
— ' As] 3R HW [R] ¥Ry
30. For the below Assertion [As] and 30. ﬁmm;.:q [As] e : ' B _
Reason [R] choose the correct - ' @ - :
~ alternative- | o . TR AT I8 T i RINEY) s
. : o Fo [As]
Assertion [As]: On g standard dice, fyall Y EEIT FT AN 7 AR _
the sum of the Number of points on SRR TR R Tt ¥
the opposite sides is seven, HUALIRY 0 * £t
- Reason [R] : A standard dice has 6 T i TS Bl &, 3R Rrodig W
Numbets from one (1) to six (6) on - R AT 1 AT 7 B R L
each face and the sum of the Numbers JRMEL N .
on opposite sides is seven (7), A. [As] 3 [R] B T g, 3R [R],
A. Both [As] and [R] are true, and [As| o TR R |
F;]S ]13 the correct e);planatlon of | B. [As] 2k [R] 3Rt ey %, T [R]a-
B. Both [As] and [R] ate true, but [R] VAS] T Rt o it
- is not the corre

ct explanation of
[As]. ; o R

[As] s true, but [R] is false.
[As] is false, but [R] is true.

o

C ASI RS, ooy [R) e |
D TASI T &, ey [y iy i

el m@%-@ SpaceForRoughWOrk/mmﬁaqmw& i
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e g i RO BART < T Pl e e Al — __
' A T Ok i
\General Knowle g 4 qﬁﬁ
L} 93"'3
B Y 3. frferen ST _
* Which of the following lsmver? . |
tributary of Brahmaputra
s A. 999
A, Mangs _ _ . |
B. Lohit . B. F’h‘%ﬁ
C. Tons ‘ '. C. #e
D. Subansiri ol 1

W e D. gemft \
32. Arrange the followmgrulers in the 32. ﬁw%%ammﬁmmw

correct chronological order-

& SIHR FE 559 ¥ wTeg

(8) Balban 2G Ee .

(b) Aram Shah gt abiLE

(©) Razia Sultan ' - (b) SRHIME

(d) Muhammad Bip Tughlaq (c) T

() Alauddin Khilji | @ Wﬁqm

A. a2 Cc>bodoe B (o) TG Reerht .
B, b—->c-—>a-—>e-—>d : A a-**C-—)b;—)d-;»e
C. b-—)a——)c-—>d—_—>e . | |
B

; b—'—>c—->a—-:-e—->d
c—-)a_-—>b—->e->d_

B
_ o b-—~>a—,->c—->d——>e
T by & Ty : ' D. C“)ﬂ.“)b“')e"‘)d
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I

33-

Match the allocation of Lok Sabha
seats to their respective States.

" Column - I Column - 1I
(States) (Number of
seats in Lok
Sabha)
(a) Madhya Pradesh (1) 48
(b) Chhattisgarh (an 11
~(¢) Maharashtra (111) 10
(d) Haryana (IV) 29

Choose the correct answer from the
options given below-

A. a-L, b-II, c-III, d4-1V

_ o AGGthr:bgiePlay
mﬁ%“\l
33. W$M% el - e
R I - IE
e ik
@@ @R
() 48 '
(@) 7T an 11
() E’E“;;; @ 10
©) o aAV) 29,5
€0 o faet 8 & W S

o1 b1, eI ATV

A.
B- a-W, b"II, C"I, d-III | B- a_"IV’ b:II; C:I; d"'I!I
C. a-IV, b-III, c-II, d-I C. alv, bl c-I1, d-1
D. a-II, b-l, c-IV, d-I1I ' 111
D. a-llL b, c-1V, d-

34. For the below Assertion [As] and 34. ﬁq%ﬁgam s8] 5 [R] = ferg
Reason'[R] choose the correct - el ﬁmﬂﬁ- '
ilz:?r?it;e[-A 1: After the revolt of 11857 = T T it

. s] : After the revolt o : :
1857 the British abandoned the old SRR T S R i e iy
policy of helping social reformers, sisdl .
R;als-?'n_ [R]f th HisS op'irsxion that the T [R] : 37T 7 o7 75 Tt wer =7
apolition of the Sari System, : S ﬁ"ﬁT&’lﬁH‘l‘a’ TS 37T TS
permission for widow remarriage and - ¢ : I -
other social reform measures were the TR % hew 1857 % %T;ﬁg & T e
main reasons for the revolt of 185 7 IO ‘

A. Both [As] and [R] are correct, and
- [R]is correct explanation of [As].

B. Both [As] and [R] are correct, but

[R] is not the correct explanation
of [As].

i C. [As] is true, but [R] is false,

D. [As] is false, but [R] is true,

A [AS] T [R) 91wt &, afi [R],
[AS] =T w&t fyaor )

[

D. [

'.13-2205-DESR25;ENT;E_\(E!' .

+%® @ P Space For Rough Work / WW
3% | | T R ®
% m L

As]
C. [As]
As)

B. [As] T R) 3 W R, vy [R],

BT HE Foreror Ty @
IR, g [R) ey 3
TR, g [R] e R

ST (1 111 1T T —
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| 35 ] discbvery 35. TR form o %ﬁﬂ m 1
. Ruthel‘ford i§ famous for the Er i) ' |
3 | A, Tl
A. Nucleys B, @
B. Waye C. FEeH _ -
C. Quantum D, 35 & & FE 7 . e
- D. None of the above 5y -
36. Match List - [ with List - Il and select 36. @"Iﬁ@-ﬂ %;T:ﬁ E?I'{aﬁm w
the correct answer from the code @%ﬂ%ﬁn? , S
below the ljst. i T o m . - 11
) St dium (a) Clusttt;Ck () TREFERT  (a) Tea
Salt Lake Stadium
(ID *Barabati Stadium (5) Kanpur ) SRR (b)
(M) Green Park () Delhj D) MTH R (o) Rech
Stadium - | . (IV) 787 Sttt ey (d) et
V) Arun Jaitley (d) Kolkata - .
Stad_ium : L

A. I, Il-a, IIL-b, IV-c

B. I, II-b, ITi-d, V-3

C. I-a, II-b, IlI-c, IV-d ;
D. I-b, Il-a, IlI-d, [Vg

A, Id, II-a, IT1-b, IV-}c

B. I, II-b, III-d, IV-a

S T, II-b, IlI-c, IV-d

D. I-b, II-a, III-d, IV-¢

37.

‘Which of the following types of Yogq

primarily focuses on physical postures
(asanas) and breath contro]
(pranayama)? o 1

A. Bhakti Yoga
B. Karma Yoga
C. Hathg Yoga
D. Gyan Yogq

37.

12.2205-DESR25-FN'r mu



https://applink.adda247.com/d/XhqWf9lSap

—AddaR4]7)

BILS A Gﬁ%hie Play

38, In which amendment the right to 38. A ; frfaH WEET ﬁmm%’?
property has been removed from foper wier s L
ﬂjndan:iental rights? ' A a2F

nd )
: :ird B, 4379
i C: 44th C. 44 a-

D. 24t D, 249 foiclgp s
——— 3 % AR fRreren wif3reqor -
39, Sequence the following stages in the 39. NCF 202 AT T

correct order for integrating value FRiHAT H T b e

education into teacher training mﬁqﬁqﬁga EI'{Uﬁ hHag :

programs as per NCF 2023, =

(a) Understanding the importance of - |

value education, _
(b) Practicing value-based teaching

@ @ﬁﬁ%qﬁﬁm!

®) T Rreror farfRry AT 37Ty
methods, - e | ,
% ?Jgﬁﬁiﬁiﬁgf s (©) wrafer % o7 worffer ferfire
(d) Assessing the impact of value i) RaSll |
education, : | (d) 7= e & sorer =5y HATHST FEAT|
A acb,d Al a,c,b,d I
A abod h B afh 84
C. a,d,c,b : :
N 0,d b, e i O a,d,c, b
‘ D. ad, b, c o
40, Which of the following is not an 40. mﬁ 3
Institutional agency? N : =
A, Commercial Bank | l T
B. Commercial and Regjona] Rural B. =M 5 & Tefyoy EC)
- Bank C. T
C. NABARD | D. %Qﬁﬁag{-
D. Indigenous Banker
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41

A Gﬁ%hie Play

% ts in the
 {umange the following esg? related to
Correct chronologi(?ﬂI Orr Capita '

ational Income and Per
Ncome in India- ,
Beginning ofNig}:“a] Income
Estimation in India. ]
(I1) Implementation of Economic
Liberalization in India.

(I1I) The Indian economy has become

the fifth-largest economy in the
world. G

(IV) Launch of the First Five Year
Plan. ' '

(V) Formation of NITI Aayog.
A LIV, I, v, s
B. 111, LIV, 1V

C. LULIL, v,V

D. IL, I, IIL, IV, v

42,

41, i R g TR A TE

]

() TS 7T o ST T e

(IT) ¥TCe & TR SaRTHTOT ST BT

(111) ¥ arefezereer fover Y utesh
9 T Y

(IV)mraﬁdaaﬁquﬁmﬁgsml

(V). =fer A o7 T

A. LIV,ILV, I

B ILLILV,IV

C. LILILIV,V
D. ILLILIV,V

What is true for’he_méglobin? - 42. dureifes FIRH P A BRI %
(D)  Itcirculates oxygen in blood. (D ¥’ § el =7 TR 7T ]
(I) Itisiron containing compound. ' Mo '
(III) It provides immunity against ) =i I® 8l

some diseases,
(V) It gives red colour to the blood.
A. LII1II '

B. LIIL1V
C. IL IIL, IV
D. LILIV

(IID) & 5 37T 35 SRy e sy
- i |

C. ILIIL1v/
D. LI,1v /

*© 8B SpceTorRoug Work T R BT


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

| 43. On the banks of which river did
| Mahavir Swami attain Kaivalya?
A. Niranjana

B. Sone

C. Ganga

D. Rijupalika

43'

A S iay

e A AT T Ty
B g7 |

A, fEe

B. @7

C. Thm

9 [As] ¥R PR
44. Direction : For the below Assertion 4. fdar: e g @ [' _ ° i
[As] and Reason [R] choose the ' ' [R] F fu gl fershe ‘_"ﬁ' ; _
correct alternative, _ i H [As] ; iyt e | et areh T
Assertion [As] : All the rivers ‘ WWWW‘
- originating from the Western Ghats ST Wﬁﬁﬁ. : '
and falling into the Arabian Sea form 7 fmor et &
Waterfalls, el | HRO [R] : TR BT Telermrer 7
Reason [R] : The Western edge of the uftert foFm 3 e wR are AT 9T R
Western Ghats mountain range is ' : ‘
steep and fast sloping part, A [As] 3R [R] 31 Wt &, it Ry,
A. Both [As] and [R] are true, and - [As] R e T Y
), S lpantion of B. [As) % [R) 2t e €, e )
B. Both [As] and [R] are true, but [R] [As] @r“ﬁ TN e 2
s not the correct explanation of C. [As]wddrg, 9 [R] T R
[As]. D. [ ' :
. |As _
C. [As] is true, but [R] is false, _ TS, oo [R) w4 ff
- D. [As] is false, but [R] is true.
|
"
s |
e

o8 PP Space For Rough Work /Wm
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- '45|| ﬁé‘ﬂ ﬂ%ﬁmﬂm[‘mﬁ(m[

: ssertion S o R -
Dlrectlon For the beloo ?e theid: - i - Hiqﬁ(ﬂﬁmﬁﬂﬁfﬁ%m
[As] and Reason [R] b YA [As] it a:ﬂ-(
- Correct alternative- cctive mm‘f er?ﬂ'q G’I‘FITF%W Y :_
Asscrtion [As] : The D! inour . SLIGED EI"I"SWTT Bl
~ Principles of State Po libycl Justice- , Frdyer & fareprar I ﬁﬁﬁw\'
Constitution have declar Lhtlcﬂl SR [R] : -
Social, Economic and PO st o e, ATV AT TSI 3T TR =y
Reason [R] : Planning a":; cnsure gt ey T e foaT T |
promote dcwlopmt.nt an | A )
Socio-Economic Justice. g A, [As] #i[R] 3 wE €, AR [R]
"% Bith syt [BY arclatrr::ﬁoinof ' " [As] 3T Tt ST FHAT B
[R] is the LOI‘ICLt CXp ; . )
[Ag]. . B. [As] 3fi [R] 3 el €, e [R],
B. Both [As] and [R] ar? tfute b“tf[R]  [As] #T T STET T R
anation o
1[1\1;3)“13, correct expl . 3 C. [As] @& &, @fr [R] Terd %l :

C. [As]is true, but [R] is false.
D. [As]is false, but [R] is true.

Which of the following is the correct ] 46. FA A FITAT ITATTF ?:-\ﬁ! kil ZfeqoT o
order of coal producing regions from

D. [As] e &, S [R] W 31

46.

SHeolodl v . IR Y #RWH%‘I’W%
outh to North' To=R

“(a) Talcher’ <o 2, B (@) o

(b) Singareni el : (b): et o

() Neyvellr e o (c) et

(d) Korba . | ' FIET

(e) Bokaro : ! (d), S

A, b>c>d>e>a ' (€)

B. a>d>c¢>bhse _ . A
C. c>b>a>dse
Do c>a>bsesy

- b>e>d>esg
a>d>c>_jb>e
C>b>a;ﬁd>e
C>a>b5e>d

oW

[

m@%@\

B Space For Rough Work / WW%WW % &
B

\
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47. Arrange the following cities (year
'wise) as they organised Olympic. _

GET IT ON
A Google Play

schools?

A. To produce professional Athletes.

B. To promote physical fitness and
overall development.

C. To focus solely on academics.
D. To reduce stress.

, 1920
games- 1896, 1900, 1916,
- 1896, 1900, 1916, 1920 @zaﬁ
(a) .Antwerp (a) a_ﬁh
~ (b) Berlin (b) _
(c) Paris (c) ufd
(d) Athens (d) T
2 d,C,b,a A d,C,b,a
B. ¢b,a,d B. c,b,ad
C- a, bs C, d C a,-b, C, d
D. b,a,d,c : D_b,a,d,c
48, According to NEP 2020, what is the dne A8 “NEP 2020$W E ﬁiil ﬁ@EﬁmT-ﬂ
ultimate goals of sports educat1on in - aifim T T 7

A, e ele RFEN

B. i e oik omm R ay
STETET <1l

C. m%mmwéﬂl

D. & &H FTT)
49. Which of the following ideal is 49, Wmﬁmﬁaﬁhm
mentioned in the Preamble of Indian TRy
f?
Constitution? GO oy —
(I) Social Justice
(II) Economical Justice (I *TffeR =y
(IIT) Political Justice - | (I1T) Tsriferes =y ‘
(IV) Social, Economlcal and Political (IV) ARy, SIS AR
Justice e 3 W
A. Tand II only | I3
B. Tand III only ‘x: B. ¥y 11
C. Ionly C. o]
D. IV only D. et v

@ ® R @ Spaue For Rough Work/ Wﬁﬁ%m\

® @&&


https://applink.adda247.com/d/XhqWf9lSap

Google Play

Adda | . A GET IT ON

0. WWIAWWR

and
ki For the below Assertion [ﬁzlt %‘qgﬁﬁmﬂ g - 3 :

Reason [R] choose the €0 afiraer [As] : NCF 2023 ﬁ?ﬂﬁ %
ﬂllLrnalwc : | ET
Aocrion ] NCFIBBESS gy e e
1hal Yoga Education ! shOul NI ST ST R
compulsory part of the §¢100 M [R] : TR @uﬂf@ﬁﬁm !
curriculum, ' ;
Reason [R]: Yoga cducation 13l ; W%%WW&T&T HTRIh % :
¢ssential for promot":ib Phgs“::;.l ;m THohl TH hedT TR R ﬁ]
mental well-being and its ben
extend beyond the classroom. A. [As]TE [R] ?G‘Eﬂ'% 3#( R, [
A. Both[As]and [R]aretrue,and -~ FTHE RO

- [R] is the correct explanation of B. [As] W [R] SR &, am [R] J

[ S [As] T HE wRT 78 &) '
B. Both [As] and [R] are true, but [R] | |

is not the correct explanation of C. [As] T §, Aife [R] 38T B

Bl D. [As] 379 §, AT [R] wer B
(3 [As] is true, but [R] is false. |

D. [As]is false, but [R] is true.

- eE! ® & Space For Rough Work / %

mﬁ?%ﬁm %@@ﬁ&m e —
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£ S | " PART - IE\_}W
Educational Interest i D %Hﬁ_@_ﬁ%ﬁ‘ Ko
L e L DUF el
S1. Match the correct pair of teacher SL. R % §iﬁ' g - Il)ﬁﬁlm- -
attitudes (List - 1) with their _ ST wre ferer T _ I
corresponding descriptions (List - 11)- ot
List-1 List - I ' Sl m @
(Teacher’s (Description) (Rre = & () Rty
Attitude) . (a) _ Ww
(8) Authoritarian (I) Provides 3T
emotional , ¥R RAL
support and ' 4% AT 8
care to learners | ; ' TR BT
(b) Democratic (II) Frequently . (b) ?‘ﬁﬁm an e b
TN criticizes and . _ _ .W
o _ labels students A e 5 B 3 I B
(c) Indifferent (III) Demands R AT &
obedience, | | - TSR
' discourages (o) SEEF (D S a?r._
learner input _ - AITER,
(d) Nurturing (IV) Encourages . : ﬁTW%F@E :
students’ - TR
participation A ' ? i
and 5 |
collaboration (d) ‘ﬁwmm AV) BT FY wried
(€) Judgemental (V) Shows lack of : - IRTETE
: concern for e :
student’s : . &
progress (e) Trofarres, (V) =t st wrf )
Choose the correct answer from the & Wiy Riar
options given below- | G St fegmar )
A. a-Ill, b1V, ¢-V, d-I, e-II ﬁ%ﬁnmﬁm—q“rﬁ%wﬁgﬁ-
B. &Il b-1II, ¢-1V, d-V, e1 A. &I b1y, oy '
C. 2V, bL, oL, d-IL eIV iy T &V dd el
D. a-IV, b-1I, c-1, d-V, e-III + AL, o1y, 4.y, -1
C. a-y, b-I, ¢y, d-III, e-Iv
| _ M |: ¥ H-IV, b-H, c-I, .d-V, e-III

O BB S oo ok e R e

13-2205.pE Sms'ENT-EVE U iy

SR [T


https://applink.adda247.com/d/XhqWf9lSap

S et P ;_ T o SR _ _ tl'{'ﬁfw, o
Sy P S e
A L s “associated - FHTE, T i
- 52 Atrange the e:;peﬂg:fe by Pavlov on qgst s PASe

Instinctive action” . e, 3 () WIS & |
 dog, b o () PR EREEE
. (a) Providing fo?thl(’u\tl food. \ A il i
(¢) Ringingthe® 1/ ot giving - (d) T
(d) Ringing the be , | gl T . _ o
food. i | A. d>c>b>a
A, d>c>b>a B. a>b>c>d
B. a>b>c>d ' C. c>a>d>c
C. c>a>d>c¢ D. c>a>b>d
D. ¢c>a>b>d : ' | . ﬁT&
S3. Which of the following attributes - 53. famforRed ﬂﬁﬂqm |313'.I o O
denote great strengths of a teacher?' T HEW IR Rl ST 87 |
(@) Full-time active involvement in (a) HEAFTR arer & qulenTiores Wiy
the institutional management : NESHES : : _
(b). Setting examples - .
(¢) Willingness to put assumptions (b)  IETELOT T TG $, T
tothetest Y . (c) HIIATSHT I WE i 557
(d) Acknowledging mistakes d) TR Y R T
Select the correct answer from the 1y R .
codes given below- fagmg HE I ﬁe.f‘
A. a,bandd A. a,b3Nd
B. b,candd B. b,c3Rd
C. a,candd
D, 4, b, ol i
. D a, ,bs Y 3:?'-{ d
sebg i _
YRR s
Pace For Rough Work / & Sy
CEITS R S @ e

13-22Q5-DEsms;ENT;EVE ot i et
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e 70 1 TR @Y
S4. When a students learns a lesson 54, St fRrameft 34-511.1&% WW%?& -

because he is interested in it and he FifR gt 3EH frerelt B TR G Sy
gets happiness by leaming that lesson whay & 38 geft T

the main reason for this is- & _ ot

. Intrinsic motivatjon

S s A. st AT

B. Extrinsic motivation ;

C. Self-determining B. s affir l-

D. Usefulness C. ofren-futdt

' D, T .
TR TATERTT | 2
5S. When a student learns g skill in a SS. Rrerreff fereh et i e -@FE
disciplinary environment and follows G 9@ & |l @ﬁm ATET
certain rules and principles, it is called et Fvrer =t frEe &l TE ﬁTEI'UTW'IﬁT
teaching- . iR _
A. Formal teaching Sy
B. Informal teaching A. st Rrewr
C. Non-formal teaching ' B. riiefer femm
D. Contextual teaching o) ﬁﬁwﬁﬁﬁm
| D. Seifives firegor *

0. Students are unaware of vocational - 56. ST 0T Ferwr & e Nk
goals in school stage, but teachers SHNT B g, AR Rers BIEIEA! e
motivate students towards a certain & -

Professional goal keeping in mind i e e IN@ _

their ability and capacity, So this SIS W Y e e vy Har
affects the academic achievements of W@W?ﬁﬁf\m EERISSRery TS T
students- - ) -

.A' Favourable effect A e

B. Adverse effect B

C. Positive effect U RIS

D. Negative effect C. HRRTHE Ty

| - "% @ ® Spsce ForRougs Wc;rk/tqsm%w
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5y,

5. mﬁmmﬁwﬂﬁﬁ _

GET IT ON
A Google Play

* Which of the following i8 different in Bil
techniques for improving group - P T &7
relationships n the classroom” A. mwnﬁﬁwaﬁwﬁw
. By d able teachers
2 Effective an : B.. S EER . ;i
. Proper communication
C. Dictatorship teachers C. el firereh
D. Counselling centres D. TUHI &5 3
s i
S58. Match the Psychologlst and learning 58. Hﬂaﬁﬁﬁa@%mmﬁ@#
| theories propounded by them- ﬁﬁﬁﬁﬁgﬁ%ﬁm &
Column -1 ) %mm_ﬂ -1 ; ' Ii
(@ E. L Thorndike (I)  Insite theory =
- oflearning - (a) 3 941'*73"325 ) Fﬁ@#ﬁ
(b) I P. Pavlov (I) . Operant I3
. | - Response ~(b) 3TE. . tna?ha (1) em“d%a
theory et g
inne IT1) * Trial !
Ip) S g e;,l:r f‘ﬁi . (c) st &R (1) mm%
| ry 8
(d) Kohler (V) Classical e
k: conditioning (d) e (IV) TR
: theory aqga'%:ﬁr
Choose the correct answer from the E ?
options given below- :ﬁ%ﬁqw ERRCEN ]

vow»

a-1II, b-IV, ¢-1I, d-I
a-I11, b-1V, c-1, d-1I
a-I11, b-I, c-II, d-IV
a-I, b-11, ¢-II1, d-IV

A. aIIL b1V, ¢-II, d-]
" B. aII, b1V, ¢-I, d-II
C. aIIL b, ¢-IL, d-IV
D. a-l, b-ll, c-III, d-1V


https://applink.adda247.com/d/XhqWf9lSap
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Google Play

o g e 5T Yy

9. If the speed of learning of a studentsis 59, SR TR Er Sy
slow in the initia] attempts and the  tifrafaE S 9‘";“_ i ?\Gﬁi fo
speed increases in subsequent e &, Rrerds wereaed e
attempts, as a result of which the e d R PO @R
Jearning curve rise rapidly, then it is ST ’
called- A, g fsared aﬁ _

A. Curve of equal returns | B. gdaT frsaed a5
B. Curve of mcream.ng returns C. wra frsares 9%
C. Curve of decreasing returns s
D. S-shaped curve D. -3
60. When a student learn a topic without 60, s ot fopeft forer aht forTT fofelt fifierg
any definite purpose or desire, then it I A7 5501 o B A I g g,
1s called- T T T ST R
A. Incidental learning - T N
.n al learning ‘ e
B. Learning by observation S
C. Intentional learning B. ST gRT HiET
D. Learning with pleasure C. wif¥mr diey
D. Tt & ey

AR P Space For Rough Work/@*lﬁ%ﬁﬁm R ® '
: ; ; : ; O,
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' 1 WWW-“WHU"Ellﬁm;'.-'
61 arnet characteristics 61. a7 ¥ fF o F}
Which set of lean 4 helpful in % farereff oo " :ﬂ%ﬁ'qnqa%
2y be conSIdctﬂ:e teachmg-leaming FETIF |1 I Hehdl &7
designing effecti \
Systegrnn ::;gselect the correct alternative 2 o Rrepea ﬂi*r o % T\é
from the codes given below- 1 e e i el a
o the © f learners in vy
tof the s L
i ;ﬁfgfpcelgonal relatlonshlps of an mw%trrﬁmﬁm Rt %a‘qm:qf
learner’s family friends. e :
() Abiiyofthe learmers i respoc (11ny forear 3 i i fraf ﬁlﬁnr
f the subject. '
av) gmdem’s language backgrou.nd. ' (IV) s C| ﬂTGl'I? 3’53-1!3!1
(V) Interest of students in following W) ﬁqﬁag—qaﬁgaﬁrw Eﬁi’ra
| the prescribed dfess cpde. = £ o
(VI) Motivational-orientation of the ]
students. - VD BT T S-S |
Codes: ' P FE:
A. LII, Il and IV | R A. 1,11, III 3fR v
B. LI IV and VI | B 1 I s
C. ILULIVandV PHig St
D. OLIV,Vand VI C. ILILIVa3Ry

D. IIL, Iv, v &k v1

m@@@ SpaCQFor-..
41 Rough Work Wwaﬁﬁﬁ*
: : - m®®®(ﬁw

132205 Nwona. "
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P2.. According to Piaget, children’s

% knowledge increases through the
process of cranans ANdennenn :

(8) Assimilation

(b) Adaptation

(c) Scaffolding

(d) Accommodation

(e) Application

Choose the correct answer from the

options given below-

A. aand b only
B. candeonly
C. aand d only
D. band ¢ only

GET IT ON
Google Play

it T T o,

i ﬁma‘aﬁgﬂ’aﬁmi’l

------- Y wisadl
(8) arem@Td

53. When students do not pay attention to
the topic taught in class or stop
revising, the learning process slow
down and we tend to forget it,

A. Law of disuse
B. Law of use

63.

= el e & T I AT R
St & e T 2 & AT AR TR AR

&, i it o e 7 €1 I R A g
3 s[e7 I ) 7 Fe e S e

A, ITENT % A

C. Law of effect B. 3w fam
D. Law of satisfaction C. ¥ & fFam
D. &=t % fram
- Which is related majors law of 64. yHeEF F Ty F T ot e s
learning by Thorndike? Tefrga Ry
A. Law of Readiness | A. T 7
B. Law of Prepotency of Elements .
C. Law of Effects 3 l 1w
C. was g

D. Law of Associative Shifting.

B, ARSI SR Tvercor a7 ey

o ® R @ Sp_aée For Rough Work/W;Wéf%ﬁﬁm s
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65 Th ; objBCtive of teaching should
) € main

———

be-
A. To prepare stud
exam

B. To make
C. To provide necessary information

related to the subject .
D. To develop thinking power in

 students

ents to pass the

students write good notes

GET IT ON
Q—————' A Google Play

66. Which of the followmg set of

#y i el 'W®®®w»

statements represents acceptablp

propositions in respect of teaching-

learning relationships? Choose the

correct code to indicate your answer- .

(I) When students f;ul In a test, it is
the teacher who fails,

(I) Every teaching must aim at
ensuring learning,

(IIT) There can be teaching without
learning, |

(IV) There can be no learning without
teaching,

(V) A teacher teaches but learns also.

(VI) Real learning 1mphes rote
learning,
Codes:

A ILILIV ang y
B. LI angy
C. ILIV,y and V]
D LIL Vang vy

66.

() R e SR s ':ﬁ_:

DA ILIL TV sy

D. LI, vk

Rrerforfee # & # @1 o Rreor-a)
() o et wle & e
Ot RrereR et BraT R |

v) %m%ﬁmaﬁwqﬁg}
V) @ﬁTWW%%&ﬁ'Fﬂ'@ﬁT

‘:ﬂ@ﬂ%l |
HIS :

B. LI, mskv
C. IIL 1V, v ofx VI
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67. Direction : For the below Assertion

. [As] and Reaso_n [R] choose the

- correct alternative- o
Assertion [As] : Both Education and
Psychology are related to behaviour.

Education changes human behaviour
and makes it better,

Reason [R] : Progress in life is made
through religion and wealth.
A. Both [As] and [R] are true, and
> [R] is the correct explanation of
[As]. e .
Both [As] and [R] are true, but [R]
is not correct explanation of [As].
[As] is true, but [R] is false.
D. [As]is false, but [R] is true. =

e

Gﬁ%hie Play

A. [As] i [R] EHT W €, 3[R,
' [As] i T TIEE &

B. [As] 3R [R] I TETE, T [R],
[As] T T TIETRT & 2

C. [As] Wi &, 7q [R] e &I
D. [As] Te@ &, W [R] W

o ®® & Space For Rouéh Work / WW%%—&W .
| Rlee - . ; VO W
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Theories with
58. Match the ffJ“"W e criptions:

their Theorlsts List - II
List-1 (Theoriéts /
(Theories) - rintions
: o (I) Interests
(a) Holland's shaped by
Theory of . early
Career Choi¢ childhood and
parent
relations
: II) Career
) %Lf:jf?; ! development
Ciibar throu.gh stages
Development and life roles -
(c) Anne Roe’s (III) Personality
Personality types match
Theory with work
environments
(d) Theoryof. (IV) Work
Work ~ adjustment
Adjustment based on
(TWA) satisfaction
- and
: satisfactoriness
(e) Krumboltz’s (V) Career
Social decisions
Learning influenced by
Theory learning
and |
experiences
Choose the correct answer from the

options given beloyw-

A. a-Ill, b-]], -, d-IV, e-v

- a1l b-IIL, ¢ 4. v,

B
C. alllL b, c-II, d- IV, e-v
D y eIV

. 2L, b-II, eI, 4.y

e-IV

GET IT ON
A Google Play

EEAL

(d) FT TR T awmaﬂf
Fmawa gy

a‘\%rﬁwqﬁwq‘rﬁ%mﬁmﬂ%r
A. a-II1, b-11, c-I, d-1V, e-Vv 3
B. &1L, b-1II, -1, d-V, e-1v
C. &l b, eI, oIV, ey
D. a-I, b-II, c-IIL, d-V, e-1v

Te® % ® Space For Roy
gh Workfmm%%a
7‘"13 % B ® e

_13.2205-DEsms.Ei§f.ﬁv,@'. 7
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9, what is the first step in adapting to a

new situation in the workplace?

A Acceptmg the change with a
positive attitude

B. Developing a plan to handle the
change

C. Evaluating the new situation and
understanding the challenges

D. Seeking feedback and
continuously adjusting your

69,

asr&waﬁﬁ:wﬁ “"'i %%

GET IT ON
A Google Play

A

mﬁmmﬁ“ﬂ%?

AT T
A, T A ﬁ
LSicaneaell

"B, w%ﬁqﬁa‘fmmm

e 7 Ry 1 T N

et ey @A

D, rgde e A G 'ﬁ

approach | . IR ST el
0. Assertion [As] : People with s001a1 0. SRRy [As] Hl"'lgl ST
vocational interest prefer working a@ﬁﬁq;ﬂ'@?rm Hﬁﬁﬁm%mmﬁ
- with others to help them learn or %mmmqﬂﬁﬁ%|

grow.
Reason [R] : They are oﬁen drawn to .
solitary work environments.

Choose the correct answer from the

2, followmg options-

_t-) :

A. Both [As] and [R] are true and
- [R] is the correct explanatlon of
[As].

B. Both [As] and [R] are true, but [R]
is not the correct explanation of
[As].

[As] is true, but [R] is false.
D. [As]is false, but [R] is true.

HR [R] : %w@'ﬁmw#

IR AT a8l .

ﬂ%mmﬁmﬁﬁﬂﬁw@-

A. [As] 31K [R] R Eer &, 3[R,
[As] T TE Tt &) '

B. [As] ¥R [R] 3T o & SifF [R];

 [As] 7 9 vefteror i 2
C. [As] 98, A [R] eraer 2

- D. [As] 5w, ?fe [R] wer


https://applink.adda247.com/d/XhqWf9lSap

71 Direction : for th

o below Assertion
[As] and Reaso! [R] choose the
tive- ‘

zt;;rexif ;itF:’:] . After performing the
]Cant:inlg msponsc the Ch!]d receives

' ent.
;f;::'g;c F}I{n]  Reinforcement has a
satisfying effect O1 learning,
A. Both [As] and [R] are true, and
[R] is the correct explanation of

[As]. - .

B. Both [As]and [R] are true, but [R]
is NOT.the correct explanation of
[As].' '

C. [As]is true, but [R] is false.

D. [As]is false, but [R] is true.

71.

C. [As] ®E &, T [R] T B

a1frerer [As] _
T mﬁ[ﬁ]@ ST
o R : G 1 S T
A. [As] ¥ [R] 3T @ €, R [R]
[As] T T IR 8 4

B. [As] ¥ [R] 3 @&l § 0y [R
[As] %1 GET TTETHT T & ;

D. [As]Teid &, W [R] HET 1

72. McDougall has described 14 types of 72. ﬁﬂglﬁ A 1T T 14 TR T
‘l?aslicﬁinstilnlcts of ?.chﬂd :nd thei;h I T = T T Fui R 1
relationship emotion”. Arrange the 1 o T ) e T 1
five main “relationship emotions” in a el il - ;
sequence- (a) ICHTH """;
(@) Tender Emotion (b) s . 1
(b) Anger
(c) Disgust (€)= 70 | i J
(d) Distress (d) %E
(e) Fear (&) W
A, a>b>c>dse A, a>-b>c>d>e
B. €>b>c>a5yg B. e>b>c>a>(
v E>b30> 654 C. a>b
D. d>c>asps, b >Cc>e>d
D‘d>c>a>b>c
BT roma e e
. “Pace For Rough M
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. Why is it important tq refle
experiences when determin
vocational Interests?

A. Tthelps in identifying hobbies that
may not be career-oriented,

B. Itprovides g clear indication of

personal valyes, skills, and
preferences,

ct on past
ing

C. Itlimits careep options to a
specific field.

D. Itencourages focusing only on

high-paying jobs,

13,

What was John Holland’s theory?

A. That people’s Optimal careers are -
the same as theijr parents, -
B.

That there are gix personalities of

working people, which combine
into six work environments,

- was desi
jobs, wh
labour,

D. That job hap
do with pers
and prestige

gned for administrative
ile the rest are better for

onality, only income

That roughly 1/6 of the population

piness has nothingto . -

' Gﬁ%hie Play

A. tramﬂﬂﬁ"ﬁmﬂw?:%%‘ -

B, %W@,W;ﬁ‘ o |
o1 7 et S T

C.. 75 Hfeere et 1 O TITE &0 o
e srear ) |

A EIGIEICate R
ket b b A

74. S Eiets wr fRrgrer w7 oM

e

A. T %7 T PR S HTT R
ST BT R '

B, Wwﬁ%wméﬁ%ﬁ‘r
TR ST & e s
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78, Al'rang e the following tasks in the

appropriate order that best suits the

1d’fnt11t311;~,laat1on and development of

Vocational interests”

(I) Expjore vanous career options
through experience or research

(II) Identify personal strengths,
values and interests

(ITI) Obtain education of skills needed

for the chosen vocational field

(IV) Seek advice or guidance from
professionals in the field

| (V) Reflect upon past experiences |

and accomplishments and set
priorities
Choose the correct answer from the
codes given below-

vowp
=" <
1
|
T
=
>

(1) Eﬁﬂqmmﬁaﬁéw%ﬁm
Iv) aﬁaﬁ&ﬂaﬁﬁmmm
@

(V) ﬁ@ﬁmaﬂ'{mﬁ‘ﬂﬁq
. e :
ﬁﬁﬁmf@iﬁﬁﬁﬁmw
A TI-V-I-IV-II
B. V-I-I-M-IV

C. O-I-IV-m-V

D. M-O-I-IV-V

GET IT ON
A Google Play

]

(1) SaferTa qea, tgqaﬁ;m

m%m%aﬁmm“

‘0D D e


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

S. The role of the teacher is important in

achieving the objective of learning-
transfer, An'ang

‘ ¢ the factors affecting
learning transfer i Sequence,

(8) Use of acquireg knowledge in
different Situation

(b) Undcrstanding
(¢) Generalization

(d) Similarity of subjects
(e) Methods of study

A. ¢>a>d>phse
B.c>a>b>d>e
C. e>b>asdse
D.

c>d>b>a>e

76.

N
Google Play

fwwd

e e A0
W%ﬁwmﬁ
warg i) N
(8) i g s Faforet LT _ﬁ

ST
(b) Hwgrary
(c) wm=frrr .
(d) Fregt = gamean
() Toyer h fferat

A c>a>d>b>e

B. c>a>b>d>e

C.-ec>b>a>d>e

D. c>d>b>a>e g =
7. Intrinsic motivation motivates a 717, 3rafes ARt ==t = e & S
person from within. Which is not - YEH T R AR SRR S S
related to intrinsic motivation- Fﬁﬁ-ﬂﬂqﬁ%?
A. Anxie | ® i
v A A =T

B. Need of Achievement ;
C. Level of Aspiration B. 3wiied <t s helT
D. Praise C. TThE &R

' D. ST

& ® ® & SpaceFor Rough Work / T %l % o3 sy

TS
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ing is the most m%.? ‘
78' Which of the fOHf?l‘Z]arging? Wm:ﬁﬁ .
effective factor 0 olicy (a) ;
(a) Grt;wel‘m]"‘mt P (b) Sl
(b)  Motivation (c) Aferamar
(c) Aptiﬂlde : @ @IW K
(d) Interest ' _
(e)) Physical facilitics | (e) ‘lﬂﬁﬁ"w
A. a,bandcg:::y A. FaTa, b
B. b, c and d Only L boad
C. ¢,dandeOnly ‘B. %
D. a,bandeOnly | C-,aﬁﬁc,daﬂ'{e
_ R D. aﬁa_a,ba-ﬁTe EoR
I — i "79. ST Tferit o T s o
79. Which of the following is NOT an ¢ RN :
effective strategy when developing FrefaRes Iul:“ﬁ,' ST
Vocational interests? S 29 o . .
A Experimenting with inernships A $oAR s e
and volunteer work _ '- Ao . | ..
B. Researching the nature of different . I_i[ J < |
professions : W . B %Waﬁmwsﬁu '
C. Focusing only on personal hobbies C. F=d TSR Y H7 47 e e
without considering job market

demand = R 2K 3‘"?'5"“%“‘31‘1‘5 JEc
D." Consulting wity mentors or career D. w@mesRt ot s AT
counsellors - -

. Student-centered classroom s for--- 80. T 3‘,‘[‘3‘;3 2| fé_rq Gl R ;
A. To redyce the discrimination of RFT o |
individya] differenceg A AR % %ﬁmm |
B. il‘o reduce teacher-orienteq B. R Y ST 7y Y T
- lectureg :
C. ©am T e ey
C. To forget fp, prior knowledge w

D. To invlolve the whole class D_. lw sk F&q%a i
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GET IT ON
Google Play

Hindi “ il
T e pe—— e ——
A1l ), ]
B. 13 ® =ﬁ'{
: @ f=h
C. 52 @ 3
D, 45 T R 1 = -
2. PR I8 T SaTET & A, F (@A )
A. RSN S B. (),®3F
B. WISSTE G S C. &aa (@) (J)
C. STiaT=s §3T 7 D. (3), (™) ®)
D. STRASTE ST
3. TSI ST % IS0 8s. e WY SHATST-
(37) =™ . &HeE-1 FHIaH-11
@) gt s () T @ i
@ ™= () D  wwiRel
@ €M ‘ (c) E () &
eI foeheT 1 =97 - d) T IV) T
A FFE ()T @) A. a1, b-I1, c-I11, 4-TV
B. %3 (@) 9 (3) B. a-IV, b1, ¢-I, d-I1
C. (30), (@9 @) C, ?-H, b-1I11, c-1V, d-1
D, @')’G;r)a'(a-) D. a'_IIIs b'Ia C"II, d-IV
i v ® R X SpaceF . '
| & Space orRoughWt)rk/EEEﬁ%ﬁ.ﬁm %_@@\_

® »
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ikl
3 1

86. wmgmﬁ@?ﬁﬁﬁm
. T} e -

‘-_-‘-'—-—____

(@) ey o ()
(b) enffam(s)
(c) Syfawm(:)
(d) goffam (1)
A a>b>c>d
B. ¢>a>b>d
C. b>a>c>d

D. c>b>a>dl"

88.

A &, piay

Q#QEEEWH!ﬁmﬁaﬂaﬁ%
e 3mTaEm"’f 9

C. g GUe H a1

D ﬁ@’r@rgﬁﬁ@@ﬁm

ﬁwwmgwmm%ﬁmw
e :

T [As]: T GRS A G R &,
%%%ﬁ%q@mﬁaﬂw%mél

I [R]: Teew T MeeF oy

" W A i )

A AR R e W [R),

(A Fr e ey

B. [As) 3 [R) dnit et & PR,
Uﬁﬁﬁﬁﬁamgn Ty

C AT, B (R e
Dr A8, oy ) ey

89.

ﬁﬁmmmwﬁﬁﬁrmwm

%

() ol

~(b) femmm

(c) HH |
(d) wgrE frar g
A. it > 5 > ef > wrerer fig

'B.ﬂﬁﬂ>$ﬁ>ﬁﬁﬂ>agm$ﬁmf

-0, ﬁ>%m>w>mm

- %ﬂwﬁ%rhaﬁﬂw%

D, ﬁmn>amﬂ>nam$ﬁRN>aﬁ

A, T
B. f

C. 8 R

D. oy
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PART -V gL —
English i e G —
91. DireCtion: 94. Direction: i ok .
- ite in meanin
Choose the one which best expresses Choose the word oppos ¢
the meaning of the following word- | to the given WOr¢
PREDICT FRATERNITY
A. Explain | A. Hospitality
B. Foretell - B. Hostility
C. Arrest C. Brotherhood
D. Observe D. Generosity
92. Direction: 95. In the following items, there isa
Identify the sentences in which . sentence in which parts have been
prepositions are correctly used- jumbled. Rearrange the parts which
(J) Her marriage with Phillip did not are denoted as a, b, ¢, d €, so that the
last very long. | reordered sentence makes 2 coherent
(K) Her marriage to Phillip did not - sequence. |
last very long. (a) he wished to repair his fortune
(L) When did your interest in social (b) One day Bassanio came to
work begin? Sk Antonio and told him that
(M) When did your interest for social (¢)  Whom he dearly loved
work begin? : (d) by a wealthy marriage with a
Select the correct answer from the lady i
following options. . - (e) Whose father had left her soul
A. K &L only | heiress to a large estate
B. J&Mon].y A. a’b: C, dse ;
C. J,M&Konly B._e,d,c,b,a
D. K & M only CisGdsiaybye.
D. b,a,d,c,e

93. Direction:
Find out the correctly spelt word-

* A. Arangement

 B. Arrangment
'C. Arragment
D. Arrangement

. @ ® @ S Space For Rough Work/ﬁ?ﬁf&%%'&m. ® ®.®.@ -
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R Gmrmie Play
* Adda247 | P— T

98. Direction:

. -word subst1tutlor
9 . o items, there is a se the one-w %
% Inthe following 1€ atts have been b ho is all powerful. |
Sentence jn which P . One W _
jumb]eg, Rearrange the parts which Omnipotent
Jumbled. dasa, b, ¢, d, & so that the A. i
:ergrflzl;:ctiesentence makes a coherent | B. Omnlpr‘?s .
iscien
?:;mf\lrllfe'was very fond of reading u gm;ls:f the above
booﬁs said that students - D. No
(®) which are the treasures of Ty
ledge | . Direction: '
(c) llf)r:fgajesdfa T ' 5% gllentify the sentence / sentences
(d) who were the backbone of the - hriH g passi_V% vl(-)lce'd i
country o L0 J) The Earth was believed to
(e) should cultivate the habit of % EK)) He writes a letter by pen.
¥eading booke s - (L) You will be well looked aft
A. b: a, d, Y | s D | \, (M) HeWill have taught me.
B. c,d,e ab . '

Select the correct answer ﬁ'om t

C. c,a,d,e b following options.

D. b, e,a,c,d. ot ' A J&L(}nly
97, Match the following, 4 B. K only
Column-[ . Column-I1 P G M oonly
- (a) Figs are said () Imperative D. K &M only
to be better |
than bananas, -

(b) Take a seat. () Passive

(¢) How time (IIT) Complex
flies! -

(d) Iam certajn (IV) Exclamatory
that I sha]) give

YOU satisfaction,

. aIl, b, ¢V, d-111

a-III, b-[, ¢V, d-11

a-1, b-11, C-III, 4.1y

a-II, b-Iv, C-I, d-171

Uowp

e Space For Rough Work / T 3 -
s i ]S e
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AU g b TR

). For the below Assertion [As] and

Reason [R] choose the correct
alternative,

Assertion [As]: A complex sentence
always contains at |egst two
independent claygeg joined by a
coordinating, / -
Reason [R]: A complex sentence is

characterized by the presence of one

independent clayse and at least one
- dependent clause, d

A. Both [As] and [R] are true, and
[R] is correct eXplanat_ion of [As].
B. Both [As] and [R] are true, but [R]
18 not the correct explanation of
[As]. ol |
C. [As] s true, but [R] is false.

D. [As] is false, and [R] is true.
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